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I. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any 5 questions

3. Part of the questions to be attempted together.
4. All questions carry equal marks.

5.  Use of Simple Calculator allowed.

6. Answers may be written either in English or Hindi;
but the same medium should be used throughout the
paper.
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(a) How existence of the bureaucracy can lead to
excessive growth of the public sector? Explain

with the help of economic model. (7)

(b) Analyze the effect of increase in the tax rate in
a progressive taxation regime on high income

individuals. (8)
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(a) What are the views of Ayush Bajaj and Gaurav
Datt in financing the increased expenditure in lieu
of health and economic crisis causcd by Covid-19

pandemic? (8)

(b) What are the features ol good tax system?
Elaborate the problems associated with Indian tax

system. (7)
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(a) What are the recommendations ol lifteenth finance
commission report on vertical and horizontal

balances and grants in aid” (7)

(b) What is meant by incidence ol tax? What lactors
determine the tax distribution between buyers and

the sellers? (8)
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(b) How probability of detection and fine rate affects () S0 s T ey W AT AT = ¥ a5y
the tax evasion decision of individuals? (7} WA ﬂﬁa’ ® UNE @ fawam =)
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(b) Explain how the efficiency condition for the
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3. (a) Explain the decentralization theorem in context of

(b) Elaborate the Mark up rule for sefting price of
Petroleum Oil & Lubricant products. What shal]

(3) T A s S R e ® a9 be the impact of rise in crude oil prices in
F e T B wwRT e 27 international market macroeconomic variableg?
(7)
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4. (a) Using a model of two consumers and two goods,
with consumption of one good causing externality,
explain how a single tax rate of pigouvian tax

cannot achieve efficiency. (7)

(b) What is compensated demand curve? How
deadweight loss can be measured along the

compensated demand curve? (8)
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5. (a) A lake is open for use to all lishermen. The cost
of taking a fishing boat out to fish is constant and
equal to C. If B boats are taken out, {(B) fish
will be caught in all. f/(B) — U. "B) < 0, at all
B > =u0. Also, C > 0, and the price of fish
(Pp > 0) is unaffected by the fish cateh of these

fishermen.

(i) Write the condition for the cquilibrium
number of fishing boals taken out on the
lake. [s this condition same for the efficient

number ol boats? Explain

(i) If f(B) = 100B"2, C = 10, P| = 2, calculate
the equilibrium number of boats, elficient
number of boats and the amount of tax
that needs to be imposed on cach boat, so
that the efficient number of boats are taken

out on the lake. (8)
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